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1684 ] 94 = Pk i e A FL 2 10k Vigk B —[]967 3. 26
1685 [] o4 K T e 4 EL 2 7 10kVAE R — Al 4.79
1686 [E] P 2 T e L 2 ] 10kV 1 7 8. 05
1687 [E] o4 Pk i e 4 EL 2 7 13k —ml 5. 87
1688 ] 94 Pk i e 4 FL 2 10k V=58 —[71954 4. 16
1689 [E] o4 K i P 4 HL 2 7 10kVith £ —[A]972 0.93
1690 I[P 2 i T e i L 2 ] 1Ok VA A1 — =] 3. 52
1691 [E] o4 K 1 P 4 HL 2 ) 10kVAT£E951 0. 00
1692 ] 194 = Pk T e 4 FL A 10kVAT 549932 0. 00
1693 [E] 94 PR 1 e 4 HL 2 7 10KV RA0973 4.19
1694 ] 94 = Pk i e A FL 2 10kVARH —[7] 6. 78
1695 [] o4 K T e 4 EL 2 7 1OKVAT i —[E1967 5. 50
1696 [E] P P T e L 2 ] 10kV =1 £1995 1.42
1697 [E] o4 K T e 4 EL 2 7 10kV AR —[71996 6. 53
1698 ] 194 Pk i e A FL 2 10kVA #1612 5. 54
1699 [E] [o4 PR i P 4 HL 2 7] 857 2. 70
1700 ] 94 Pk i e A HL 2 1Ok VA 914 0. 65
1701 [E] o4 K 1 e 4 HL 2 7 10k VA A28 8. 05
1702 ] 94 Pk T e A FL 2 10K VAL i 71 7] 8. 05
1703 [E] o4 PR 1l e 4 HL 2 7] 10kVEfZ 2 6. 00
1704 ] 94 = Pk i e A FL 2 10K VYA 75 28 8. 05
1705 [] o4 K T e 4 EL 2 7 10KV T2 6. 89
1706 [E] P P T e L 2 ] 10k V][] 28645 6. 89
1707 [E] o4 K i e 4 EL 2 7 10kVE: T.4916 0. 00
1708 ] 194 Pk T e A FL 2 10k VK F 28929 6. 89
1709 [E] [o4 K i P 4 HL 2 7 10kVF 644 8. 05
1710 ] 94 Pk i e A HL 2 10KVl 7K 958 6. 89
1711 [E] o4 K 1 e 4 HL 2 ] 10kVAAT 28 6. 89
1712 ] 94 Pk T e A FL A 10kVAKER 6. 44
1713 [E] 94 PR 1 e 4 HL 2 7 10KV %957 5. 54
1714 [ W] 2 Pk Tl A 0 L 2 ) LOK VAT Jr 28925 3.07
1715 (] o4 Pk 1l e 4 HL 2 7 10kV - F 2k 6. 44
1716 [E] P P T e i L 2 ] 10kVEH 3 —[rl 28 5. 54
1717 [E] o4 K i e 4 EL 2 7 1Ok VY] #:—[A] 6. 89
1718 ] 194 Pk i e A FL 2 LOKVEEAE 2R 0. 00
1719 [E] [o4 PR i P 4 HL 2 7] 10KVAERH — [7] 5. 60
1720 ] 94 Pk T e A HL 2 1OKVAEF—[A] 0.71
1721 [E] o4 K i e 4 HL 2 ] 10KV it — [7] 6. 89
1722 ] 94 Pk T e A FL 2 10kVK [F] 2% 8. 05
1723 [E] o4 PR 1l e 4 HL 2 7] 10kVitBit915 1.63
1724 ] 94 = Pk i e A FL 2 10k Vs 5z 28 8. 05
1725 [] o4 K 1l e 4 EL 2 7] 10k VS 28 6. 44
1726 [E] P P T e L 2 ] 10KV £k 8. 05
1727 [E] o4 K i e 4 EL 2 7 10k Ve ElZE 5. 54




1728 ] 94 = Pk i e A FL 2 10kVIE 7.07
1729 (] o4 K Tl e 4 EL 2 7] 10k VAEFIZE 0. 00
1730 [ P P T e i L 2 ] 10kVAT 5 —["]942 5.10
1731 [E] o4 K T e 4 EL 2 7] 10kV-§334951 6.79
1732 ] 194 Pk i e A FL 2 10KVt —[H]981 5.95
1733 [E] o4 = PR 1 P 4 HL 2 7 10KVT 5:946 4.81
1734 ] 94 Pk i e 4 HL 2 ] 22 25 6. 10
1735 [E] 94 Pk i e 4 HL 2 ] /| 1. 44
1736 ] 94 Pk T e A FL 2 LOKVAT 3 — [7]922 5. 08
1737 [E] o4 PR 1l e 4 HL 2 7] 10kVith 2% 2.03
1738 ] 94 = Pk i e A FL 2 i — 1] 8. 05
1739 [] o4 K T e 4 EL 2 7 10kVIHiA 8.31
1740 ] 94 = Pk i e A HL 2 FEAE T[] 6. 36
1741 [E] o4 Pk i e 4 EL 2 7 10kV 22 fh 25 2.06
1742 ] 94 Pk i e 4 FL 2 10KV 25 4.38
1743 [E] o4 K i P 4 HL 2 7 1OKVAT i —[7]982 3. 22
1744 ] 94 Pk i e A HL 2 1Ok VAR PR 28 2.92
1745 [E] o4 K 1 P 4 HL 2 ) 10K VI £ —[A]988 2.85
1746 ] 194 = Pk T e 4 FL A 10V B —A] 8. 05
1747 [E] 94 PR 1 e 4 HL 2 7 10kVAEEIA £ 964 3.52
1748 ] 94 = Pk i e A FL 2 10kVY FH —[H1934 3. 26
1749 [] o4 K T e 4 EL 2 7 10kV = %% —[71998 8. 05
1750 [E] P P T e L 2 ] 10kV_#h[d924 3. 04
1751 [E] o4 K T e 4 EL 2 7 10kVR 22k 8. 05
1752 ] 194 Pk i e A FL 2 LOkVAE R /\ 7] 2. 34
1753 [E] [o4 PR i P 4 HL 2 7] H K —171966 4. 60
1754 ] 94 Pk i e A HL 2 10KV L —[F1914 4. 38
1755 [E] o4 K 1 e 4 HL 2 7 Y | 4.82
1756 ] 94 Pk T e A FL 2 10kV 1+ i —[F1974 8. 05
1757 [E] o4 PR 1l e 4 HL 2 7] 10kVYE 1958 3.81
1758 ] 94 = Pk i e A FL 2 10kVEEIA 8. 05
1759 [] o4 K T e 4 EL 2 7 10k VS K2k 8. 05
1760 [E] P P T e L 2 ] 10k VY& H 28 8. 05
1761 [ X 2 i T e i L ] 10KV 5 28985 8. 05
1762 ] Y P T e A L 10k Vi {5 28 8. 05
1763 [E] [o4 K i P 4 HL 2 7 10kVAEITL 28 8. 05
1764 ] 94 Pk i e A HL 2 10KV TE L 6. 89
1765 [E] o4 K 1 e 4 HL 2 ] 10k Vs rh 2 8. 05
1766 ] 94 Pk T e A FL A 10k Ve FH 28 8. 05
1767 [E] 94 PR 1 e 4 HL 2 7 10kVi#E921 8. 05
1768 ] 94 = Pk i e A FL 2 10KV 228 8. 05
1769 (] o4 Pk 1l e 4 HL 2 7 10KV B2k 8. 05
1770 [E] P P T e i L 2 ] 10kVAT B2k 4. 13
1771 [E] o4 K i e 4 EL 2 7 10kViA RH2 3. 46
1772 ] 194 Pk i e A FL 2 10kVEAELE 6. 00
1773 [E] [o4 PR i P 4 HL 2 7] 10kVALZ — 8. 05
1774 ] 94 Pk T e A HL 2 10KV BE 2R 6. 44
1775 [E] o4 K i e 4 HL 2 ] 10kVF=E 28 6. 89
1776 ] 94 Pk T e A FL 2 10KV 111 —[7]924 8. 05
1777 [E] o4 PR 1l e 4 HL 2 7] 10KV S 2E 6. 89
1778 ] 94 = Pk i e A FL 2 10kV £ yE 2R 8. 05
1779 [] o4 K 1l e 4 EL 2 7] 10KV Y8973 6. 89
1780 [E] P P T e L 2 ] 10KVATA 28933 0. 20
1781 [E] o4 K i e 4 EL 2 7 10kVF 3 —[Al 28 4. 82




1782 ] 94 = Pk i e A FL 2 10kVT-5 48 5. 10
1783 (] o4 K Tl e 4 EL 2 7] 10kV75 2k 0.70
1784 [ P P T e i L 2 ] 10KV i v — [A] 8. 05
1785 [E] o4 K T e 4 EL 2 7] 10kV_E M2k 2. 30
1786 ] 194 Pk i e A FL 2 10KV 28 6. 89
1787 [E] o4 = PR 1 P 4 HL 2 7 10kVyE i —n] 6. 44
1788 ] 94 Pk i e 4 HL 2 10kVYEIE — [A] 6. 89
1789 [E] 94 Pk i e 4 HL 2 ] 10kVAEA 28 1.35
1790 ] 94 Pk T e A FL 2 10K VA i 2k 4. 85
1791 [E] o4 PR 1l e 4 HL 2 7] 10KV 55 26 8. 05
1792 ] 94 = Pk i e A FL 2 LOKVAT 2 191966 2.75
1793 [] o4 K T e 4 EL 2 7 LOKVIHAE—[7]928 4.75
1794 ] 94 = Pk i e A HL 2 [ 25— [ 2. 67
1795 [E] o4 Pk i e 4 EL 2 7 1OKVIHAE —[F1972 2. 34
1796 ] 94 Pk i e 4 FL 2 1OKVAE @R JL[R1943 4. 56
1797 [E] o4 K i P 4 HL 2 7 10kViBgN —[71926 6. 85
1798 ] 94 Pk i e A HL 2 LOKVAT S —[=]986 3.98
1799 [E] o4 K 1 P 4 HL 2 ) 10kVitBAL941 1.85
1800 ] 194 = Pk T e 4 FL A 10k VIS if 25 8. 05
1801 [E] 94 PR 1 e 4 HL 2 7 10kViEDE 8. 05
1802 ] [#4] 25 PR T e 3 FEL A E 4 —[91934 7.53
1803 [] o4 K T e 4 EL 2 7 10kVithf}—[5]973 3. 71
1804 [E] P P T e L 2 ] 10k VI i —[7]989 5.92
1805 ] X B i T e i L 8 ] 10kVIsEEL968 6. 58
1806 ] 194 Pk i e A FL 2 10KVEE R 2k 6. 89
1807 [E] [o4 PR i P 4 HL 2 7] 10kVAEff—[A] 8. 05
1808 ] 94 Pk i e A HL 2 10k Vet o8 — [A] 8. 05
1809 [E] o4 K 1 e 4 HL 2 7 10k Vi R — 7] 8. 05
1810 ] 94 Pk T e A FL 2 10k Vi ¥ 2 6. 89
1811 [E] o4 PR 1l e 4 HL 2 7] 10kVAE 28927 8. 05
1812 ] X i T e L 8 ] 10k Vi F 28 8. 05
1813 [] o4 K T e 4 EL 2 7 AR 28 0. 00
1814 [E] P P T e L 2 ] 10kVAE R 2E946 7.07
1815 [E] o4 K i e 4 EL 2 7 10kVAERE 28947 6. 44
1816 ] 194 Pk T e A FL 2 10KV Bk 8. 05
1817 [E] [o4 K i P 4 HL 2 7 10kVHEFE 28 6. 44
1818 ] 94 Pk i e A HL 2 10KV 28 6. 89
1819 [ ) P T e o L 2 10kV 35941 2.51
1820 ] 94 Pk T e A FL A 10kVYE 5 —[A] 8. 05
1821 [E] 94 PR 1 e 4 HL 2 7 10KVAEFF— ] 8. 05
1822 ] 94 = Pk i e A FL 2 10k Vs fE— ] 8. 05
1823 (] o4 Pk 1l e 4 HL 2 7 10kVE 2 6. 00
1824 [E] P P T e i L 2 ] 10kVyH B5919 0. 57
1825 [E] o4 K i e 4 EL 2 7 10kVK: i 2926 6. 89
1826 ] 194 Pk i e A FL 2 10kVEFEL 1.50
1827 [E] [o4 PR i P 4 HL 2 7] 10kVa~F4614 5. 54
1828 ] 94 Pk T e A HL 2 10KV £982 5. 54
1829 [E] o4 K i e 4 HL 2 ] 10KVl #981 6. 44
1830 ] 94 Pk T e A FL 2 LOKVF-3 — [m] 2k 6. 80
1831 [E] o4 PR 1l e 4 HL 2 7] 10kV_ XW4E613 7.07
1832 ] X e i T e i L 8 ] 10kViE £ 28 8. 05
1833 [] o4 K 1l e 4 EL 2 7] 10KV % [ —[A1 2k 8. 05
1834 [E] P P T e L 2 ] 10kV R 37 2% 8. 05
1835 [E] o4 K i e 4 EL 2 7 10kV A2k 8. 05




1836 ] X i T e L 8 ] 10k V = 28 8. 05
1837 (] o4 K Tl e 4 EL 2 7] 10k V i [H — 7] 8. 05
1838 [ P P T e i L 2 ] 10kVT- 528923 6. 69
1839 [E] o4 K T e 4 EL 2 7] 10k Vil 2k 6. 89
1840 ] 194 Pk i e A FL 2 10kV A48 [A] 8. 05
1841 [E] o4 = PR 1 P 4 HL 2 7 10k V= 52 —[7] 8. 05
1842 ] 94 Pk i e 4 HL 2 10KV & [E— Al 8. 05
1843 [E] 94 Pk i e 4 HL 2 ] 10kViE gLz 6. 89
1844 ] 94 Pk T e A FL 2 10KV 5 e — [m] 2 8. 05
1845 [E] o4 PR 1l e 4 HL 2 7] 10KV A2 8. 05
1846 ] 94 = Pk i e A FL 2 10KV F.4:922 7.07
1847 [] o4 K T e 4 EL 2 7 LOkVIH 5= —F] 8. 05
1848 [E] P 2 T e L 2 ] 10kV 72k 6. 44
1849 [E] o4 Pk i e 4 EL 2 7 10k V5B 2k 1.96
1850 ] 94 Pk i e 4 FL 2 10kV/KFEZ614 2. 49
1851 [E] o4 K i P 4 HL 2 7 10k Vil g — [l 8. 05
1852 ] 94 Pk i e A HL 2 10KVEE S 25 1. 77
1853 [E] o4 K 1 P 4 HL 2 ) 10k Vi 2k 8. 05
1854 ] 194 = Pk T e 4 FL A 10kV_HEHZ 1.76
1855 [E] 94 PR 1 e 4 HL 2 7 10kVaNES 26 5. 54
1856 ] 94 = Pk i e A FL 2 10KV A4 — =] 8. 05
1857 [] o4 K T e 4 EL 2 7 10k Vit —[A1959 6. 33
1858 [E] P P T e L 2 ] 10k Vi g — [A] 8. 05
1859 [E] o4 K T e 4 EL 2 7 W — 1.22
1860 ] 194 Pk i e A FL 2 10kVAE 5 (7] 8. 05
1861 [E] [o4 PR i P 4 HL 2 7] 10k VYE A — 1] 8. 05
1862 ] 94 Pk i e A HL 2 10KVIERELZL 6. 89
1863 [E] o4 K 1 e 4 HL 2 7 10k VihyEe 28 6. 89
1864 ] 94 Pk T e A FL 2 10k Vi A1 — 7] 8. 05
1865 [E] o4 PR 1l e 4 HL 2 7] 10KV i B2 8. 05
1866 ] X i T e L 8 ] 10k VER 5 2 8. 05
1867 [] o4 K T e 4 EL 2 7 LOkVAE @YY [A] 8. 05
1868 [E] P P T e L 2 ] 10k Vi AR 2k 8. 05
1869 [E] o4 K i e 4 EL 2 7 10k VY o2k 8. 05
1870 ] 194 Pk T e A FL 2 10KVER# 28 6. 89
1871 [E] [o4 K i P 4 HL 2 7 10k VYE i — 1] 8. 05
1872 ] 94 Pk i e A HL 2 10kV X —[5]916 2.29
1873 [E] o4 K 1 e 4 HL 2 ] 10k VA i 2k 3. 44
1874 ] 94 Pk T e A FL A 10kVyH 51949 1.83
1875 [E] 94 PR 1 e 4 HL 2 7 10kVyHi 22918 4.93
1876 ] 94 = Pk i e A FL 2 10k VA T £ 4.93
1877 (] o4 Pk 1l e 4 HL 2 7 10kVEFE 2 8. 05
1878 [E] P P T e i L 2 ] 10kVK i —[H]911 4. 69
1879 [E] o4 K i e 4 EL 2 7 10k VA IE 28 5.31
1880 ] X P T e i L ] LOKVE AL 28927 6. 89
1881 [E] [o4 PR i P 4 HL 2 7] 10kV 24618 0. 00
1882 ] 94 Pk T e A HL 2 10kVFa 5228 8. 05
1883 [E] o4 K i e 4 HL 2 ] 10kV AL 6. 44
1884 ] P 2 i T e i L ] LOKVPT A —[F128934 6. 15
1885 [E] o4 PR 1l e 4 HL 2 7] 10KV FHLPY [ 28 8. 05
1886 ] 94 = Pk i e A FL 2 10KV FL - m 2% 5.54
1887 [] o4 K 1l e 4 EL 2 7] 10kV 1 A = [r1 £k 954 5. 54
1888 [E] P P T e L 2 ] 10kV U612 7.07
1889 [E] o4 K i e 4 EL 2 7 10k Vil J5 28 6. 89




1890 ] X i T e L 8 ] LOKVT 2 DY [F] 28958 7.12
1891 (] o4 K Tl e 4 EL 2 7] 10kVyEIE 28612 6. 89
1892 [ P P T e i L 2 ] 10k Vi i 2k 6. 89
1893 [E] o4 K T e 4 EL 2 7] 10KVYEMFZR 6. 00
1894 ] 194 Pk i e A FL 2 10kViE AR5 5. 54
1895 [E] o4 = PR 1 P 4 HL 2 7 10kV K EIZk 8. 05
1896 ] 94 Pk i e 4 HL 2 10kVA 616 6. 44
1897 [E] 94 Pk i e 4 HL 2 ] 10kV K FH—[A] 8. 05
1898 ] 94 Pk T e A FL 2 10KV R IE —[7]956 8. 05
1899 [E] o4 PR 1l e 4 HL 2 7] 10k Vi K2k 6. 44
1900 [] [ 25 PR T e 3 FEL A 10KV Jp4H961 0. 22
1901 [] o4 K T e 4 EL 2 7 10kVEN AR 5. 54
1902 [E] P 2 T e L 2 ] 10k Vil 1 28 6. 00
1903 [E] o4 Pk i e 4 EL 2 7 10k V3l 2k 6. 89
1904 ] 94 Pk i e 4 FL 2 LOKVHFH £k 6. 44
1905 [E] o4 K i P 4 HL 2 7 10kVAE P 26 0. 60
1906 ] 94 Pk i e A HL 2 10kVEESE 48 1.81
1907 [E] o4 K 1 P 4 HL 2 ) 10kV_ Sk — (A1 2E 8. 05
1908 ] 194 = Pk T e 4 FL A 10KV RPEH — [A] 6.19
1909 [E] 94 PR 1 e 4 HL 2 7 10kVPH %8623 6. 44
1910 ] 94 = Pk i e A FL 2 10KVPHIH612 5. 54
1911 [] o4 K T e 4 EL 2 7 10KV A& — [71968 1.09
1912 [E] P P T e L 2 ] 10KV {5 —[7]942 2.57
1913 [E] o4 K T e 4 EL 2 7 A —m 6. 08
1914 ] 194 Pk i e A FL 2 10kV K 751945 3. 43
1915 [E] [o4 PR i P 4 HL 2 7] 10kV K Fr— Al 2. 42
1916 ] 94 Pk i e A HL 2 10kVAE . [nl 3. 22
1917 [E] o4 K 1 e 4 HL 2 7 1OKVAT IS —.[71964 6. 65
1918 ] 94 Pk T e A FL 2 10KV 3 —[7]956 4. 80
1919 [E] o4 PR 1l e 4 HL 2 7] Ty EE 1.43
1920 ] 94 = Pk i e A FL 2 10kV A 72k 8. 05
1921 [] o4 K T e 4 EL 2 7 10KV &S M — =] 8. 05
1922 [E] P P T e L 2 ] 10kVE K614 7.07
1923 [E] o4 K i e 4 EL 2 7 10kV 1414 6. 44
1924 ] 194 Pk T e A FL 2 10k V3lAHT 28 6. 89
1925 [E] [o4 K i P 4 HL 2 7 10k Vil 2 28 6. 89
1926 ] 94 Pk i e A HL 2 10kV & 5% — Al 8. 05
1927 [E] o4 K 1 e 4 HL 2 ] 10kViE # 28 6. 89
1928 ] 94 Pk T e A FL A 10K VAE 128 1.39
1929 [E] 94 PR 1 e 4 HL 2 7 10k ViR # —[F1944 8. 05
1930 ] 94 = Pk i e A FL 2 10k Vb 21624 5. 54
1931 (] o4 Pk 1l e 4 HL 2 7 10kV K 12 6. 44
1932 [E] P P T e i L 2 ] 10k Vi1 614 6. 44
1933 [E] o4 K i e 4 EL 2 7 LOKVAT 2y Rl 22957 3.42
1934 ] 194 Pk i e A FL 2 10kVRAT — Al 8. 05
1935 [E] [o4 PR i P 4 HL 2 7] 10kVFUg¢—[A]922 4.31
1936 ] 94 Pk T e A HL 2 10kVE #5918 8. 05
1937 [E] o4 K i e 4 HL 2 ] 10kV 13911 7.07
1938 ] 94 Pk T e A FL 2 10kV_ XU 621 5. 54
1939 [E] o4 PR 1l e 4 HL 2 7] 10k Vi MELR 6. 44
1940 ] 94 = Pk i e A FL 2 1OV F1 26 6. 44
1941 [] o4 K 1l e 4 EL 2 7] 10kVAEH 28 2.45
1942 [E] P P T e L 2 ] 10KV fr 2% 1.34
1943 [E] o4 K i e 4 EL 2 7 10kVAEF 26 4. 55




1944 ] X i T e L 8 ] 10KV ZEHE—[n] 28 8. 05
1945 (] o4 K Tl e 4 EL 2 7] 10KV #B 2k 8. 05
1946 [ P P T e i L 2 ] 10k V= FH 28 8. 05
1947 [E] o4 K T e 4 EL 2 7] 10kVEEZR 26 0.28
1948 ] 194 Pk i e A FL 2 10kVIE934 8. 05
1949 [E] o4 = PR 1 P 4 HL 2 7 10k Vi %2R 8. 05
1950 ] 94 Pk i e 4 HL 2 LOKVI I — 7] 8. 05
1951 [E] 94 Pk i e 4 HL 2 ] 10kVA 5= =[] 8. 05
1952 ] 94 Pk T e A FL 2 10kV 5Py [A] 8. 05
1953 [E] o4 PR 1l e 4 HL 2 7] 10kV 42 8. 05
1954 ] 94 = Pk i e A FL 2 LOKVPH Ly — [A] 8. 05
1955 [] o4 K T e 4 EL 2 7 10kVRRFZ 8. 05
1956 [E] P 2 T e L 2 ] 10kV+-5£946 7.27
1957 [E] o4 Pk i e 4 EL 2 7 10kV1-312927 4. 04
1958 ] 94 Pk i e 4 FL 2 T 3. 14
1959 [E] o4 K i P 4 HL 2 7 10kV 2 2k 4. 87
1960 ] 94 Pk i e A HL 2 10k Visz Eg — [A] 2.93
1961 [E] o4 K 1 P 4 HL 2 ) 10kV+ 994 8. 05
1962 ] 194 = Pk T e 4 FL A 10k VI E — 11974 1. 46
1963 [E] 94 PR 1 e 4 HL 2 7 10kV FLHL915 5. 54
1964 ] 94 = Pk i e A FL 2 10kV 49T — [A] 4.33
1965 [] o4 K T e 4 EL 2 7 10KV 5 —[7]923 5. 54
1966 [E] P P T e L 2 ] 10KV 1L —[7]948 2.48
1967 [E] o4 K T e 4 EL 2 7 1OKVAT #8943 2. 56
1968 ] 194 Pk i e A FL 2 10kVRPBRr—[A] 1.21
1969 [E] [o4 PR i P 4 HL 2 7] 10kVH 45971 2.98
1970 ] 94 Pk i e A HL 2 10KV 959 4. 60
1971 [E] o4 K 1 e 4 HL 2 7 10KV EE—[R1 28962 1. 74
1972 ] 94 Pk T e A FL 2 10kViE %917 8. 05
1973 [E] o4 PR 1l e 4 HL 2 7] SFAE914 5.25
1974 ] 94 = Pk i e A FL 2 =Nz 0. 00
1975 [] o4 K T e 4 EL 2 7 10kVith g4 —[e]951 5.01
1976 [E] P P T e L 2 ] 10K VEEHEDY [H] 5. 39
1977 [E] o4 K i e 4 EL 2 7 10k Vit f} —[A]983 3.93
1978 ] 194 Pk T e A FL 2 S b 75 ] 0. 00
1979 [E] [o4 K i P 4 HL 2 7 10K VAR A0 — [=] 2.43
1980 ] 94 Pk i e A HL 2 10kV¥ 4931 3.81
1981 [E] o4 K 1 e 4 HL 2 ] 10k V22 i 28 3.34
1982 ] 94 Pk T e A FL A 10kV_F i —[F1621 5.54
1983 [E] 94 PR 1 e 4 HL 2 7 10kViZ T —[91941 2.95
1984 ] X 2 Tl JE 3 H A ] 10kVZE 1 = 43932 4. 08
1985 NN NG LOkVAY B PG 28937 1.61
1986 ] 94 = Pk i b H 2 10KV b 2k916 8.31
1987 SN N NG 10kVE A —28934 3. 12
1988 ] pox 2 P T b it i 0 ] 10kVYEZ=28968 4. 68
1989 SN N B NG 10kV ZEFHZE934 8. 27
1990 ] o4 Pk 7 b A H A 10kV_ZEF1-—913 2.29
1991 S NN NG 10kVZEME944 7.01
1992 I xS T b it i 0 ] 10kVZEAPY£933 7.41
1993 S NN NG 10k VA [E 28927 3.41
1994 ] pox T b it i 20 ] 10kVAhJE — 28956 4. 66
1995 NN NG LOKVHFHE —2k961 6. 75
1996 ] 94 = Pk i b H 2 10KVAE AT — 28931 5. 40
1997 SN N B NG 10k VHE 428923 5. 82




1998 ] pox P T b it i 0 ] 10kVARHMEZEI1 1 3.57
1999 e N NG 1OkVi 5 28918 3. 40
2000 ] 94 = Pk 7 b H A 10kVAS 3 28935 4. 63
2001 SN N NG 10kVyE %628 2.84
2002 ] pox P T b it i 0 ] 10k V{2 — #2926 2.22
2003 SN N B NG 10kV4E b 28952 2.63
2004 ] 94 = Pk 7 b A H A 10kV=F 42924 5. 46
2005 SN N B NG 10KV 28961 2. 47
2006 ] 94 = Pk 7 b F 2 ] 10KV ZN28922 2.54
2007 SN NG 10kVAP 2953 0. 49
2008 ] X P T bt i 0 ] 10kV_T-Hi—918 1.58
2009 NN NG 10KV 11128972 3. 37
2010 ] 94 = Pk T b H 2 10k VI i 28973 1.70
2011 SN N B NG 10kVIGIT DY £k914 1.34
2012 ] xS T b it i 0 ] 10k Vi 5 28,932 5. 45
2013 SN N B NG 10KVt —2k951 1.97
2014 ] 94 = Pk 7 b A H A LOKVYE#i2£928 5.78
2015 SN N NG 10KV — 28924 2.87
2016 ] 194 = Pk 7 b H 8 ] 10KV A5 28,945 3.59
2017 SN NG 10kVAEHE £ 911 1.84
2018 ] pox P T b it i 0 ] 10kVH #fE—947 6. 70
2019 NN NG 10kV H 7 —966 2.73
2020 ] 94 = Pk T b H 2 10kVy4) J& — #8944 4. 39
2021 SN N B NG 10k VA #2923 2.87
2022 ] pox P T b it i 0 ] 10kVJE %918 4.01
2023 SN N B NG LOkVAIl#5 28935 0.98
2024 ] 94 = Pk 7 b A H A 10KVl & — 28916 4. 12
2025 S NN NG 10k Vi & —2k933 1.41
2026 I xS T b it i 0 ] 10kVAMAB—£82938 4.31
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